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QUESTION 1
Refer to the exhibit.

Exhibit 1

VSF fabric

Member 1 VSE link Member 2

Exhibit 2
Switch-3% show trunks
Load Balancing Method: L3-based (default)

Porc | Name Type | Group Type
uuuuuu e e e e e T e el e e T
1 | VSF-member-1 100/1000T | Irkl LACP
2 | VS5E-memher-2 i60/1000T | Irkl LACP

Which type of link aggregation should the network administrator configure on interfaces 1/A1 and 2/A1?
A. a protocol-less trunk

B. an LACP distributed trunk

C. a distributed trunk

D. a static LACP link aggregation

Correct Answer: A

QUESTION 2

Refer to the exhibit.
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Switch-1 V5FE connguration:
wvsf
member 1 Type "J9850A"
priority 12H

link 1 1/A232-1/R24,1/823-1/B24
link 1 name "I-Linkl 1"
eX1iT

Switch-2 VSF configuration
vaf
member 2 tvpe "JO9ES0A"M
priagricy 255
link 1 2/R23-2/024,2/B23-2/B24
1ink 1 pame "I-Link2 17
awiT =
Switch-1 and Switch-2 have the Virtual Switching Framework (VSF) settings shown in the exhibits. The administrator
then connects the switches together on the interfaces in the VSF link. The administrator first enables VSF on Switch-I
and confirms the reboot. After Switch-1 reboots, the administrator enables VSF on Switch-2 and confirms the reboot.
What happens?
A. Switch-1 and Switch-2 form a VSF fabric, and Switch-1 becomes the commander.
B. Switch-1 and Switch-2 form a VSF fabric, and Switch-2 becomes the commander.
C. Switch-1 and Switch-2 fail to form a VSF fabric, and all interfaces on both switches remain up.

D. Switch-1 and Switch-2 form a VSF fabric, and all interfaces on Switch-1 are disabled.

Correct Answer: C

QUESTION 3

What is the purpose of the organization string that is set in the System > Admin settings of an Aruba Instant UI?
A. It configures the SNMP credentials that Aruba AirWave uses to discover the cluster.

B. It directs the cluster to the proper Aruba Activate account for Zero Touch Provisioning (ZTP).

C. It prevents unauthorized APs, which do not have the correct organization string, from joining the cluster

D. It defines the group and folder to which the Instant cluster should be assigned in Aruba AirWave.

Correct Answer: A

QUESTION 4

Which settings are required on ArubaOS switches for Aruba AirWave to discover monitor, and manage them?

A. shared cluster key and an SNMP v2 community or v3 user
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B. SNMP v2 community or v3 user and an HTTPS certificate
C. credentials for Telnet or SSH login and an SNMP v2 community or v3 user
D. credentials for Telnet or SSH login and an HTTPS certificate

Correct Answer: A

QUESTION 5

Refer to the exhibit.

VSF fabric

VSF link

Untagged: VLAN 100
Trk1

=
Access Access
VLAN 11 VLAN 12

The Virtual Switching Framework (VSF) fabric and other switches connect on LACP link aggregations.
They use OSPF for routing.

What should a network administrator do to help network connectivity continue uninterrupted if the
commander fails?

A. Install a standby management module in the standby member.

B. Enable OSPF graceful restart (non-stop OSPF) on the VSF fabric.

C. Configure LLDP-MAD on the VSF fabric.

D. Configure a unique OSPF router ID on the standby member OOBNI port.

Correct Answer: A
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